1 var statel8) = [0,0,0,0,0,0,
2 var new state[8] 0,0,0,0

Ivar enr
4 mic.threshold = Q@8

5 call sound.system(-19

6 call leds.top(@,0,0)

7 call leds.bottom.left(®,8,8)
8 call leds.bottom.right(©,0,0)
9 call leds.circle(9,0,0,0,08,0,0,0)
10 timer.period[8] = 1008

11

Py
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=0

12 sub display state
call leds.circle(®,state[l]*32,0,s5tate[3]#*32,0,state[5]*32,0,state[7]%32)
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15 onevent
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22 onevent
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25 onevent
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if

end

buttons
if button.center == 1

call math.copy(new state,[0,0,0,0,0,0,0,0])

end
call math.copy(state,
callsub display state

timere

=1

mic

enr == 1 then

if state[®] == 0 and
new state[@]
new state[1]
new state[3]
new state[5]

end

if state[®] == © and
new state[@]
new state[1]
new state[3]
new state[5]

end

if state[®] == 0 and
new state[@]
new state[1]
new state[3]
new state[5]

end

if state[®] == © and
new state[@]
new state[1]
new state[3]
new state[5]

end

enr = @

call math.copy(state,
callsub display state
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1 then



